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> OD2.TXT —
> OD3.TXT —
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> B-OUT1.TXT
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LOAD

440

447
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DATALOAD

DATALOAD

459
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490
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518

528

ZEROSET

545

552

554

585

SAVE

595

605

608

722

6 15

17 3

2

33 3

5

38 4

3

45 6

1

64 7

2

74 8

0

82 9

9

104

105

164

KEIRO
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2.3.2

O o000

© 0O N o g B~ WDN B

N
= o

9677008

COMMON /G1/31(100),J2(100),J3(100),J4(100)

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)

COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),ID(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30),IDDD(0:182,30)
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12
13
14
15
16
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
il
4
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65

C
30
20
10

+

COMMON /G6/TMAVE(182)
COMMON /G7/LENGTH(182)

WRITE(6,*) *
READ(5,*) JUDGESW
CALL LOAD

OPEN(53, FILE="juhuku.log’, ACCESS="SEQUENTIAL',

STATUS="UNKNOWN', MODE="WRITE')

DO 10 I=1,95
WRITE(6,*) |
IF(NUMNP(1).EQ.0) GOTO 10
DO 20 J=1,9999
ISW=0
DO 30 K=1,NUMNP())
JSW=0
IF(INO(1,K).NE.J) GOTO 30
IF(ITIME(!,K).LT.7%60+50.AND.
JTIME(1,K).LT.10%60) GOTO 30
ITOTAL=ITOTAL+1
Ja(=d4(1)+1

IF(INO(1,K).EQ.0.0R.JSORT(I,K).EQ.9) THEN

J1(=J1(1)+1

GOTO 30
ENDIF
IYUKO=IYUKO+1

CALL MATCHING(I,K,ISW,JSW,JUDGESW)

IF(JSW.EQ.0) THEN
J2()=32(1y+1
ELSE
J3()=J3(1)+1
IKEIRO=IKEIRO+1
ENDIF

CONTINUE
CONTINUE

CONTINUE

CLOSE(53)

CALL SAVE(ITOTAL,IYUKO,IKEIRO)

STOP
END

SUBROUTINE MATCHING(I,K,ISW,JSW,JUDGESW)

COMMON /G1/31(100),J2(100),J3(100),J4(100)

1997.7.9

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

LSORT(182,2500)

45



66
67
68
69
70
71
72
73
74
75
76
7
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118

C
20
10

COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),ID(0:182),

LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G6/TMAVE(182)
COMMON /G7/LENGTH(182)

DO 10 L=1,I0NUM())

IF(IDIO0O(I,L)).EQ.0) GOTO 10
DO 20 M=1,NUMNP(ID(I000(I,L)))

MSw=1
CALL JUDGE(I,K,ID(I000(I,L)),M,LSW)
IF(LSW.EQ.0) GOTO 20

IF(.EQ.7.AND.INO(I,K).EQ.23) THEN
AAA=D
ENDIF
IF(JSW.EQ.0) THEN
CALL COMVERTL(I000(I,L),I.K,ID(I000(I,L)),M,ISW,ISW)
ELSE
CALL JUHUKUL(I000(,L),| K,ID(IO0O(I,L)),M,JSW,L JUDGESW)
ENDIF

CALL JUHUKU2(1,]000(I,L),1,K,ID(IO00(I,L)),JSW,MSW)

CONTINUE

CONTINUE
IF(JSW.NE.0) GOTO 1

MSW=2

DO 30 L=1,IO0NUM())

IF(IDIO0O(I,L)).EQ.0) GOTO 30

DO 40 M=1,JONUM(ID(I000(I,L)))
IFID(I000(ID(I000(I,L)),M)).EQ.0) GOTO 40
DO 50 N=1,NUMNP(ID(I000(ID(I000(1,L)),M)))

LSW=0

CALL JUDGE(,K,ID(I000(ID(I000(I,L)),M)),N,LSW)

IF(1.EQ.80.AND.ID(I000(,L)).EQ.95.AND.LSW.EQ.1) THEN
AAA=D

ENDIF

IF(LSW.EQ.0) GOTO 50

IF(JSW.EQ.0) THEN
CALL COMVERT2(I000(I,L),|1000(ID(I000(I,L)), M), K,
IDIOOO(ID(I000(I,L)),M)),N,ISW,ISW)
ELSE
CALL JUHUKU3(I000(1,L),|000(ID(I000(I,L)),M),I.K,
IDIO0O(ID(I000(1,L)),M)),N,ISW,L, M, JUDGESW)
ENDIF

CALL JUHUKU2(I,I000(,L),I,K,
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119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171

C
50
40
30

C
1

+ ID(I00O(IDI000(I,L)),M)),ISW,MSW)

CONTINUE
CONTINUE
CONTINUE

CONTINUE
RETURN
END

SUBROUTINE COMVERT1(LNK,NO,NOO,ND,NOD,ISW,JSW)

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182) IDNUM(0:182),10(0:182),1D(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G6/TMAVE(182)

LNUM(LNK)=LNUM(LNK)+1
LOTM(LNK,LNUM(LNK))=JTIME(NO,NOO)
LSORT(LNK,LNUM(LNK))=JSORT(NO,NOO)
LNO(LNK,LNUM(LNK))=INO(NO,NOO)
LDTM(LNK,LNUM(LNK))=JTIME(ND,NOD)
ISw=1
Jsw=1
IF(JTIME(ND,NOD)-JTIME(NO,NOO).NE.0) THEN
TMAVE(LNK)=TMAVE(LNK)+JTIME(ND,NOD)-JTIME(NO,NOO)
ELSE
TMAVE(LNK)=TMAVE(LNK)+0.5
ENDIF

RETURN
END

SUBROUTINE COMVERT2(LNK1,LNK2,NO,NOO,ND,NOD,ISW,JSW)

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182) IDNUM(0:182),10(0:182),1D(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G6/TMAVE(182)

IF(NO.EQ.ND) GOTO 1
LNUM(LNK1)=LNUM(LNK1)+1
LNUM(LNK2)=LNUM(LNK2)+1
LOTM(LNK1,LNUM(LNK1))=JTIME(NO,NOO)
LDTM(LNK1,LNUM(LNK1))=(JTIME(NO,NOO)+JTIME(ND,NOD))/2+10000
LOTM(LNK2,LNUM(LNK2))=(JTIME(NO,NOO)+JTIME(ND,NOD))/2+10000
LDTM(LNK2,LNUM(LNK2))=JTIME(ND,NOD)
LSORT(LNKZL,LNUM(LNK1))=JSORT(NO,NOO)
LSORT(LNK2,LNUM(LNK2))=JSORT(NO,NOO)
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172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224

LNO(LNK1,LNUM(LNK1))=JNO(NO,NOO)

LNO(LNK2,LNUM(LNK2))=INO(NO,NOO)

ISw=1

Jsw=1

IF((JTIME(NO,NOO)+JTIME(ND,NOD))/2-JTIME(NO,NOO).NE.0) THEN
TMAVE(LNK1)=TMAVE(LNKZ1)+

+ (JTIME(NO,NOO)+JTIME(ND,NOD))/2-JTIME(NO,NOO)
ELSE
TMAVE(LNK1)=TMAVE(LNK1)+0.5
ENDIF

IF(JTIME(ND,NOD)-(JTIME(NO,NOO)+JTIME(ND,NOD))/2.NE.0) THEN
TMAVE(LNK2)=TMAVE(LNK2)+
+ JTIME(ND,NOD)-(JTIME(NO,NOO)+JTIME(ND,NOD))/2
ELSE
TMAVE(LNK2)=TMAVE(LNK2)+0.5
ENDIF

CONTINUE

RETURN

END

SUBROUTINE JUDGE(NO,NOO,ND,NOD,LSW)
—————————————————————————————————————————————————— 1997.79
COMMON /G2/JTIME(100,2500),IJNO(100,2500),JSORT (100,2500)

IF(JNO(ND,NOD).NE.JNO(NO,NOO)) GOTO 1

IF(JSORT(ND,NOD).NE.JSORT(NO,NOO)) GOTO 1

IF(JTIME(ND,NOD).LT.7%60+50) GOTO 1

IF(JTIME(ND,NOD).GT.10*60) GOTO 1

IF(JTIME(ND ,NOD)-JTIME(NO,NOO).LT.-2) GOTO 1

IF(JTIME(ND,NOD)-JTIME(NO,NOO).GT 5) GOTO 1
LSw=1

CONTINUE
RETURN
END

SUBROUTINE JUHUKU1(LNK,NO,NOO,ND,NOD,JSW,L,JUDGESW)

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182) IDNUM(0:182),10(0:182),1D(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G6/TMAVE(182)
COMMON /G7/LENGTH(182)

NNSW=0

DO 10 1A=1L
M=LNUM(IOOO(NO,IA))
DO 20 IB=1,M
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225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
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252
253
254
255
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257
258
259
260
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262
263
264
265
266
267
268
269
270
271
272
273
274
275
276
277

IF(LNO(I00O(NO,IA),IB).NE.JNO(NO,NOO)) GOTO 20

IF(LSORT(IOOO(NO,IA),IB).NE.JSORT(NO,NOO)) GOTO 20

IF(LOTM(IOOO(NO,IA),IB).NE.JTIME(NO,NOO).AND.
LDTM(IOOO(NO,|A),IB).NE.JTIME(ND,NOD)) GOTO 20

IF(JUDGESW.EQ.1) GOTO 1
IF(LNUM(IOOO(NO,A)).NE.0) THEN
TMAVEA=TMAVE(IOOO(NO,IA))/LNUM(I000(NO,IA))
ELSE
TMAVEA=0
ENDIF
TIMEA=LDTM(I00OO(NO,A),IB)-LOTM(I00O(NO, |A),IB)-TMAVEA
IF(LNUM(LNK).NE.0) THEN
TMAVEB=TMAVE(LNK)/LNUM(LNK)
ELSE
TMAVEB=0
ENDIF
TIMEB=JTIME(ND,NOD)-JTIME(NO,NOO)-TMAVEB

IF(ABS(TIMEA).GT.ABS(TIMEB)) THEN
LNUM(LNK)=LNUM(LNK)+1
LOTM(LNK,LNUM(LNK))=JTIME(NO,NOO)
LDTM(LNK,LNUM(LNK))=JTIME(ND,NOD)
LSORT(LNK,LNUM(LNK))=JSORT(NO,NOO)
LNO(LNK,LNUM(LNK))=INO(NO,NOO)

Jsw=1
TMAVE(LNK)=TMAVE(LNK)+JTIME(ND,NOD)-JTIME(NO,NOO)
TMAVE(IOOO(NO,IA))=TMAVE(IOOO(NO,IA))-
LDTM(IOOO(NO,A),IB)+LOTM(IOOO(NO,IA),IB)
WRITE(53,600) NO,ND,ID(IOOO(NO,1A)),LOTM(LNK,LNUM(LNK)),
LDTM(LNK,LNUM(LNK)) LDTM(IOOO(NO,IA),IB),
LSORT(LNK,LNUM(LNK)),LNO(LNK,LNUM(LNK)),1
LOTM(IOOO(NO,IA),IB)=0
LDTM(IOOO(NO,A),IB)=0

ELSE
WRITE(53,600) NO,ID(I00O(NO,IA)),ND,LOTM(IOOO(NO,IA) IB),
LDTM(IOOO(NO,IA),1B),LDTM(LNK, LNUM(LNK)),
LSORT(IOOO(NO,IA) IB) LNO(IOOO(NO,IA) IB),1

ENDIF

NNSW=1

GOTO 20

CONTINUE

IF(LENGTH(IOOO(NO,|A)).GE.LENGTH(LNK)) THEN
LNUM(LNK)=LNUM(LNK)+1
LOTM(LNK,LNUM(LNK))=JTIME(NO,NOO)
LDTM(LNK,LNUM(LNK))=JTIME(ND,NOD)
LSORT(LNK,LNUM(LNK))=JSORT(NO,NOO)
LNO(LNK,LNUM(LNK))=INO(NO,NOO)
Jsw=1
TMAVE(LNK)=TMAVE(LNK)+JTIME(ND,NOD)-JTIME(NO,NOO)
TMAVE(IOOO(NO,IA))=TMAVE(IOOO(NO,IA))-

LDTM(IOOO(NO,A),IB)+LOTM(IOOO(NO,IA),IB)
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279
280
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WRITE(53,600) NO,ND,ID(IOOO(NO,A)),LOTM(LNK,LNUM(LNK)),
+ LDTM(LNK,LNUM(LNK)), LDTM(IOOO(NO,IA),IB),
+ LSORT(LNK,LNUM(LNK)),LNO(LNK,LNUM(LNK)),1
LOTM(IOOO(NO,IA),IB)=0
LDTM(IOOO(NO,A),IB)=0
ELSE
WRITE(53,600) NO,ID(IDOO(NO,IA)),ND,LOTM(IOOO(NO IA),IB),
LDTM(IOOO(NO,|A),1B),LDTM(LNK,LNUM(LNK)),
LSORT(IOOO(NO,IA),IB),LNO(IOOO(NO,1A)IB),1

+

+

ENDIF
NNSW=1
20 CONTINUE
10  CONTINUE
c
IF(NNSW.EQ.0) THEN
LNUM(LNK)=LNUM(LNK)+1
LOTM(LNK,LNUM(LNK))=JTIME(NO,NOO)
LDTM(LNK,LNUM(LNK))=JTIME(ND,NOD)
LSORT(LNK,LNUM(LNK))=JSORT(NO,NOO)
LNO(LNK,LNUM(LNK))=JNO(NO,NOO)
Jsw=1
TMAVE(LNK)=TMAVE(LNK)+JTIME(ND,NOD)-JTIME(NO,NOO)
ENDIF
c
600 FORMAT( '9I5)
RETURN
END
C —_— _——— _——— - _——— _——— _——— -
SUBROUTINE JUHUKU3(LNKZ,LNK2,NO,NOO,ND,NOD,JSW,L,M,JUDGESW)
C —_— _——— _——— - _——— _——— _——— -
COMMON /G2/JTIME(100,2500),JNO(100,2500), JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),
+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),1D(0:182),
+ LNUM(182),NUMNP(182)
COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G6/TMAVE(182)
COMMON /G7/LENGTH(182)
c
IDUM=M
IDUM=JUDGESW
NNSW=0
DO 10 1A=1L

DO 20 IB=1,JONUM(ID(IOOO(NO,IA)))
MMM=LNUM(I000(ID(IO0O(NO,1A)),IB))

DO 30 IC=1,MMM
IF(LNO(I00O(ID(ID0O(NO,1A)),IB),IC).NE.
+ JNO(NO,NOO)) GOTO 30
IF(LSORT(I00O(ID(IOOO(NO,IA)),IB),IC).NE.
+ JSORT(NO,NOO)) GOTO 30
IF(LOTM(I00O(ID(IOOO(NO,IA)),IB),IC).NE.JTIME(NO,NOO).AND.
+ LDTM(I00O(IDIOOO(NO,IA)),IB),IC).NE.JTIME(ND,NOD)) GOTO 30

IF(ID(I00O(ID(I000(NO,IA)),IB)).NE.NO) GOTO 30
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361
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376
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383

30

20

10
C

600

+

IF(LENGTH(IOOO(NO,|A))+LENGTH(I00O(ID(IO0O(NO,IA)),IB))
GE.LENGTH(LNK1)+LENGTH(LNK2)) THEN
LNUM(LNK1)=LNUM(LNK1)+1
LNUM(LNK2)=LNUM(LNK2)+1
LOTM(LNK1,LNUM(LNK1))=JTIME(NO,NOO)
LDTM(LNKZL,LNUM(LNKZ))=JTIME(ND,NOD)+10000
LSORT(LNKZL,LNUM(LNK1))=JSORT(NO,NOO)
LNO(LNK1,LNUM(LNK1))=JNO(NO,NOO)
LOTM(LNK2,LNUM(LNK2))=JTIME(ND,NOD)+10000
LDTM(LNK2,LNUM(LNK2))=JTIME(ND,NOD)
LSORT(LNK2,LNUM(LNK2))=JSORT(NO,NOO)
LNO(LNK2,LNUM(LNK2))=IJNO(NO,NOO)
Jsw=1
TMAVE(LNK1)=TMAVE(LNK1)+JTIME(ND,NOD)-JTIME(NO,NOO)
TMAVE(IOOO(NO,IA))=TMAVE(IOOO(NO,IA))-
LDTM(IOOO(NO,IA),IB)}+LOTM(I0OOO(NO,IA),1B)
WRITE(53,600) NO,ND,ID(IDOO(NO,IA)),JTIME(NO,NOO),
JTIME(ND,NOD),LOTM(I000(ID(IO0O(NO,1A)),IB),IC),
JSORT(NO,NOO),JNO(NO,NOO),2
LOTM(IOOO(NO,IA),IB)=0
LDTM(IOOO(NO,IA),IB)=0
ELSE
WRITE(53,600) NO,ID(IOOO(NO,IA)),ND,JTIME(NO,NOO),
LOTM(I00O(ID(IDOO(NO,IA)),1B),IC), JTIME(ND,NOD),
JSORT(NO,NOO),JNO(NO,NOO),2
ENDIF
NNSW=1
CONTINUE
CONTINUE
CONTINUE

IF(NNSW.EQ.0) THEN
LNUM(LNK1)=LNUM(LNK1)+1
LOTM(LNK1,LNUM(LNK1))=JTIME(NO,NOO)
LDTM(LNKZL,LNUM(LNKZ))=JTIME(ND,NOD)+10000
LSORT(LNK1,LNUM(LNK1))=JSORT(NO,NOO)
LNO(LNKZL,LNUM(LNKZ))=IJNO(NO,NOO)
TMAVE(LNK1)=TMAVE(LNK1)+JTIME(ND,NOD)-JTIME(NO,NOO)
LNUM(LNK2)=LNUM(LNK2)+1
LOTM(LNK2,LNUM(LNK2))=JTIME(ND,NOD)+10000
LDTM(LNK2,LNUM(LNK2))=JTIME(ND,NOD)
LSORT(LNK2,LNUM(LNK2))=JSORT(NO,NOO)
LNO(LNK2,LNUM(LNK2))=IJNO(NO,NOO)
Jsw=1

ENDIF

FORMAT(" ' 9I5)
RETURN
END

SUBROUTINE JUHUKUZ2(I,LNK,NO,NOO,ND,JSW,MSW)
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20

10
C

1

600

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),ID(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G6/TMAVE(182)

DO 10 1A=1,IDNUM(ND)

IF(I0(IDDD(ND,IA)).EQ.0) GOTO 10

IF(IO(IDDD(NDIA)).GT.l) GOTO 10

DO 20 1B=1,NUMNP(IO(IDDD(ND,IA)))
IFIO(IDDD(ND,IA)).EQ.. AND.NO.GE.IB) GOTO 20
IF(INO(IO(IDDD(ND,IA)),IB).NE.JNO(NO,NOO)) GOTO 20
IF(JSORT(IO(IDDD(ND,IA)),|B).NE.JSORT(NO,NOO)) GOTO 20
IF(JTIME(IO(IDDD(ND,IA)),IB).LT.7*60+50) GOTO 20
IF(ITIME(IO(IDDD(ND,IA)),IB).GT.10%60) GOTO 20
IF(JTIME(ND,IA)-

+ JTIME(IO(IDDD(ND,|A)),IB).LE.-1) GOTO 20
IF(ITIME(ND,IA)-
+ JTIME(IO(IDDD(ND,|A)),IB).GE.5) GOTO 20

IF(MSW.EQ.2) THEN
LOTM(LNK,LNUM(LNK))=0
LDTM(LNK,LNUM(LNK))=0
JSW=3
GOTO 1
ENDIF
TMAVEA=TMAVE(IDDD(ND,IA))/LNUM(IDDD(ND,IA))
TIMEA=JTIME(ND,IA)-JTIME(IO(IDDD(ND,A)),IB)-TMAVEA
TMAVEB=TMAVE(LNK)/LNUM(LNK)
TIMEB=JTIME(ND,IA)-JTIME(NO,NOO)-TMAVEB
IF(ABS(TMAVEA).LT ABS(TMAVEB)) THEN
LOTM(LNK,LNUM(LNK))=0
LDTM(LNK,LNUM(LNK))=0

JSW=3
WRITE(53,600) NO,ND,IO(IDDD(ND,IA)), JTIME(NO,NOO),
+ JTIME(IO(IDDD(ND,A)),IB), JTIME(ND, IA),
+ JSORT(NO,NOO),JNO(NO,NOO),3
ELSE

LDTM(IDDD(ND,IA),LNUM(IDDD(ND,IA)))=0
LOTM(IDDD(ND,IA) LNUM(IDDD(ND,A)))=0
WRITE(53,600) I0(IDDD(ND,IA)),ND,NO,
+ JTIME(IO(IDDD(ND,IA)), 1B),
+ JTIME(NO,NOO),JTIME(ND,|A), JSORT(NO,NOO),JNO(NO,NOO) 3
ENDIF
CONTINUE
CONTINUE

CONTINUE
FORMAT(" ' 9I5)
RETURN

END
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SUBROUTINE LOAD
c 1997.7.9
COMMON /G1/31(100),J2(100),J3(100),J4(100)
COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),ID(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G7/LENGTH(182)

C
CALL ZEROSET
WRITE(6,*) 'START LOAD'
CALL DATALOAD
C
RETURN
END
C
C —— - - —— —— —— -

SUBROUTINE DATALOAD

o3 -- -- -- -1997.79
COMMON /G1/31(100),J2(100),J3(100),J4(100)
COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),ID(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G7/LENGTH(182)
CHARACTER FNAME1*2,FNAME2*1,FNAME3*10,FNAME4*9

c
OPEN(50, FILE='COUNT.PRN', ACCESS="SEQUENTIAL',
+ STATUS='OLD', MODE='READ')
TOTAL=0
MISS=0
DO 10 1=1,70
READ(50,) [OO,NCNT
IF(I00.LT.10) THEN
FNAME2=CHAR(48+l00)
FNAME4=FNAME2//'-3.TXT'
OPEN(51,FILE=FNAME4 ACCESS="SEQUENTIAL',
+ STATUS='OLD' MODE='READ)
ELSE
MN=0
DO 20 L=0,9
IF(I00.LT.MN.OR.I00.GE.MN+10) GOTO 1
FNAME1=CHAR(48+L)//CHAR(48+/00-MN)
1 MN=MN+10
20 CONTINUE

FNAME3=FNAME1//'-3.TXT'
OPEN(51,FILE=FNAME3 ACCESS="SEQUENTIAL',
+ STATUS='OLD',MODE='READ')
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ENDIF

NCT=0
A=0
2 CONTINUE
A=A+l
READ(51,* END=3) |00, IHR,IMN,ISORT,INO
JTIME(I00,A)=IHR*60+IMN
JSORT(I00,A)=ISORT
JNO(I00,A)=INO
IF((IHR*60+IMN).GE.(7*60+50). AND.
+ (IHR*60+IMN).LE.(10*60)) THEN
NCT=NCT+1
ENDIF
IF(INO.EQ.0.AND.((IHR*60+IMN).GE.(7*60+50).AND.
+ (IHR*60+IMN).LE.(10*60))) THEN
MISS=MISS+1
ENDIF
GOTO 2
3 CONTINUE
TOTAL=TOTAL+NCT
NUMNP(I00)=A-1
CLOSE(51)
10  CONTINUE
CLOSE(50)

OPEN(50, FILE='NETWORK.TXT', ACCESS="SEQUENTIAL',
+ STATUS='OLD', MODE='READ')
DO 30 I=1,175
READ(50,*) LNB,IO(LNB),ID(LNB)
IF(IO(LNB).LE.0.OR.IO(LNB).GT.182) THEN
AAA=O
ENDIF
IONUM(IO(LNB))=IONUM(IO(LNB))+1
I00O(IO(LNB),IONUM(IO(LNB)))=LNB
IDNUM(ID(LNB))=IDNUM(ID(LNB))+1
IDDD(ID(LNB), DNUM(ID(LNB)))=LNB
30 CONTINUE
CLOSE(50)

OPEN(50,FILE='N-NET.TXT', ACCESS="SEQUENTIAL',

+ STATUS='OLD' MODE='READ)
4 CONTINUE

READ(50,* END=5) LNB,NOOO,NDDD,LENGTH(LNB)
WRITE(6,*) LNB,NOOO,NDDD,LENGTH(LNB)

GOTO 4
5  CONTINUE

CLOSE(50)

RETURN
END
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543 SUBROUTINE ZEROSET

544 C mmmmmeeeeeee o -- -- -- -1997.79
545 COMMON /G1/31(100),J2(100),J3(100),J4(100)

546 COMMON /G2/JTIME(100,2500),JNO(100,2500), JSORT(100,2500)
547 COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),
548 + LSORT(182,2500)

549 COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),1D(0:182),
550 + LNUM(182),NUMNP(182)

551 COMMON /G5/1000(0:182,30),IDDD(0:182,30)

552 COMMON /G7/LENGTH(182)

553 C

554 DO 1=1,100

555 J1(1)=0

556 J2(1)=0

557 J3(1)=0

558 J4(1)=0

559 ENDDO

560 C

561 DO 10 J=1,2500

562 DO 20 1=1,100

563 JTIME(1,J)=0

564 JINO(1,J)=0

565 JSORT(1,J)=0

566 20 CONTINUE

567 DO 30 1=1,182

568 LOTM(1,J)=0

569 LDTM(,J)=0

570 LNO(1,3)=0

571 LSORT(1,J)=0

572 30 CONTINUE
573 10 CONTINUE

574 C

575 DO 40 1=1,182
576 LENGTH(!)=0
577 IONUM(1)=0
578 IDNUM(1)=0
579 10(1)=0

580 ID(1)=0

581 LNUM(1)=0
582 NUMNP(1)=0
583 DO 50 J=1,30
584 1000(1,J)=0
585 IDDD(1,J)=0

586 50 CONTINUE
587 40 CONTINUE

588 C

589 RETURN

590 END

591 C

592 C

593 SUBROUTINE SAVE(ITOTAL,IYUKO,IKEIRO)
594 C

595 COMMON /G1/J1(100),J2(100),J3(100),J4(100)
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30

20

COMMON /G2/JTIME(100,2500),JNO(100,2500),JSORT(100,2500)
COMMON /G3/LOTM(182,2500),LDTM(182,2500),LNO(182,2500),

+ LSORT(182,2500)
COMMON /G4/I0NUM(0:182),IDNUM(0:182),10(0:182),ID(0:182),
+ LNUM(182),NUMNP(182)

COMMON /G5/1000(0:182,30), DDD(0:182,30)
COMMON /G6/TMAVE(182)
CHARACTER FNAME1*10,FNAME2*3
DIMENSION TIMEAV(182,4)|ICOUNT(182,4)
DIMENSION IPLATE(9999),JTO(9999),JTD(9999),1Z0K(9999) KN(9999),
* KNUM(9999),KNNN(9999,20)

OPEN(52,FILE='A-OUTL.TXT', ACCESS="SEQUENTIAL',

+ STATUS="UNKNOWN')
OPEN(51,FILE='A-OUT2.TXT', ACCESS='SEQUENTIAL',
+ STATUS="UNKNOWN')

WRITE(52,*) ITOTAL,IYUKO,IKEIRO
DO I=1,95

WRITE(52,*) 1,34(1)J1(1),J2(1),J3(1)
ENDDO
CLOSE(52)

OPEN(52,FILE='MATCH.TXT', ACCESS='SEQUENTIAL',
+ STATUS="UNKNOWN')
DO 10 I=1,182
IMATCH=0
MM=0
MY=0
IF(LNUM(I).NE.0) THEN
WRITE(51,*) ., TMAVE(I)/LNUM())
ELSE
WRITE(51,*) 1,0.0
ENDIF
DO 20 J=0,9
IF(LLT.MY.OR..GE.MY+100) GOTO 2
DO 30 K=0,9
IF(I-MY.LT.MM.OR.I-MY.GE.MM+10) GOTO 1
FNAME2=CHAR(48+J)//CHAR(48+K)//CHAR(48+-MY-MM)
FNAME1="LK-'//FNAME2//' TXT'
OPEN(54, FILE=FNAME1, ACCESS="SEQUENTIAL',
+ STATUS="UNKNOWN')
MM=MM+10
CONTINUE
MY=MY+100
CONTINUE
IF(LNUM(1).EQ.0) THEN
CLOSE(54)
GOTO 10
ENDIF

DO 1200 J=1,9999
IPLATE(J)=0
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649 JTO(J)=0

650 JTD()=0

651 IZOK(J3)=0

652 KN(J)=0

653 KNUM(J)=0

654 DO 1210 JJ=1,20
655 KNNN(J,33)=0

656 1210 CONTINUE
657 1200 CONTINUE

658 DO 1100 J=1,LNUM(I)
659 JTO(J)=LOTM(I,J)
660 JTD(J)=LDTM(I,J)
661 IZOK(J)=LSORT(1,J)
662 IPLATE(J)=LNO(1,J)
663 KN(IPLATE(J))=KN(IPLATE(J))+1
664 KNNN(IPLATE(J),KN(IPLATE(J)))=JTO(J)+1000*JITD(J)+10000000*1ZOK(J)
665 KNUM(J)=KN(IPLATE(J))
666 1100 CONTINUE
667 C
668 DO 1300 J=1,LNUM(I)
669 KNCHK=JT0O(J)+1000*JTD(J)+10000000*IZOK(J)
670 IMATCH=0
671 DO 1310 JJ=1,KN(IPLATE(J))
672 IF(KNCHK-KNNN(IPLATE(J),JJ).GE.-5.AND.KNCHK-KNNN(IPLATE(J),JJ)
673 *
LE.5)THEN
674 IMATCH=IMATCH+1
675 ENDIF
676 1310 CONTINUE
677 IF(IMATCH.GT.1) THEN
678 KNNN(IPLATE(J),KNUM(J))=0
679 JTO(J)=0
680 ENDIF
681 1300 CONTINUE
682 C
683 DO 40 J=1,LNUM()
684 IF(LOTM(1,J).EQ.0.OR.LDTM(I,J).EQ.0) GOTO 40
685 nsw=0
686 IF(JTO(J).EQ.0) GO TO 40
687 WRITE(54,*) JTO(J),JTD(J),IZOK(J),IPLATE(J)
688 IMATCH=IMATCH+1
689 IF(LOTM(1,J).LT.510) THEN
690 NSW=1
691 ENDIF
692 IF(LOTM(1,J).GE.510.AND.LOTM(1,J).LT.540) THEN
693 nsw=2
694 endif
695 if(lotm(i,j).ge.540.and.lotm(i,j).It.570) then
696 nsw=3
697 endif
698 if(lotm(i,j).ge.570) then
699 nsw=4
700 endif
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icount(i,nsw)=icount(i,nsw)+1
if(Idtm(i,j)-lotm(i,j).eq.0) then
timeav(i,nsw)=timeav(i,nsw)+0.5
else
timeav(i,nsw)=timeav(i,nsw)+(Idtm(i,j)-lotm(i,j))
endif
C
40 CONTINUE
CLOSE(54)
WRITE(52,*) |IMATCH
10 CONTINUE
C
OPEN(55, FILE='LKSPEED.TXT', ACCESS="SEQUENTIAL',
+ STATUS='"UNKNOWN?")
DO 50 1=1,182
DO 60 J=1,4
IF(ICOUNT(1,J).EQ.0) GOTO 60
TIMEAV(I,J)=TIMEAV(I,J)/ICOUNT(1,J)
WRITE(55,*) 1.3, TIMEAV(1,J),ICOUNT(l,J)
60 CONTINUE

50  CONTINUE
CLOSE(55)
c
RETURN
END
2.3.3

c
c
c 9677008
c
c

CHARACTER*3 FNAME2
CHARACTER*11 FNAME3
INTEGER OD1,0D2,0D3
DIMENSION LINKC(200),KEIRO(30),MC(2:31)
DIMENSION LINKO(200),LINKD(200),LNO(182,2500)

DIMENSION OD1(100,100),0D2(100,100),0D3(100,100)
DIMENSION LOTM(182,2500),LDTM(182,2500),LSORT(182,2500)
DIMENSION IWAKI(100),ISIMI(100),I0TM(182),IDTM(182),ITM(0:20)
DIMENSION LLOTM(182,2500),LLDTM(182,2500)
DIMENSION II0TM(182),IDTM(182)

OPEN(10, FILE='OD1.TXT', ACCESS="SEQUENTIAL',
+ STATUS="UNKNOWN')
OPEN(11, FILE='KEIRO.TXT', ACCESS="SEQUENTIAL',
+ STATUS="UNKNOWN')
OPEN(12, FILE='OD2.TXT', ACCESS="SEQUENTIAL',
+ STATUS="UNKNOWN')
OPEN(13, FILE='OD3.TXT', ACCESS="SEQUENTIAL',
+ STATUS="UNKNOWN')
OPEN(14, FILE='B-OUTL1.TXT', ACCESS="SEQUENTIAL',
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+

+

+

+

10

+

20

1

50

2

40
C

STATUS="UNKNOWN')

OPEN(15, FILE='B-OUT2.TXT', ACCESS="SEQUENTIAL',

STATUS="UNKNOWN')

OPEN(16, FILE='B-OUT3.TXT', ACCESS="SEQUENTIAL',

STATUS="UNKNOWN')

OPEN(50, FILE='MATCH.TXT', ACCESS="SEQUENTIAL',

STATUS='OLD)
DO 10 1=1,154
READ(50,*) LINO,LINKC(LINO)
CONTINUE
CLOSE(50)

OPEN(50, FILE='NETWORK.TXT', ACCESS="SEQUENTIAL',

STATUS='0LD")
DO 20 1=1,175

READ(50,*) LINO,LINKO(LINO),LINKD(LINO)

CONTINUE
CLOSE(50)

DO 30 1=1,182
IF(LINKC(1).EQ.0) GOTO 30
MM=0
MY=0
DO 40 J=0,9

IF(LLT.MY.OR.I.GE.MY+100) GOTO 2

DO 50 K=0,9

IF(I-MY.LT.MM.OR.I-MY.GE.MM+10) GOTO 1
FNAME2=CHAR(48+J)//CHAR(48+K)//CHAR(48+-MY-MM)
FNAME3="LK-'//FNAME2//' TXT'

WRITE(6,*) FNAME3

OPEN(50, FILE=FNAME3, ACCESS="SEQUENTIAL',
STATUS="UNKNOWN')

MM=MM+10
CONTINUE
MY=MY+100

CONTINUE

LINKC(1)=0
DO 2100 J=1,99999

READ(50,* END=2101) LLOTM(I,J),LLDTM(1,J),LSORT(1,J),LNO(1,J)

IF(LLOTM(1,J).EQ.0) GO TO 2101

LOTM(1,J)=LLOTM(,J)-LLOTM(I,J)/10000*10000
LDTM(1,J)=LLDTM(I,J)-LLDTM(1,J)/10000*10000

LINKC(1)=J

2100 CONTINUE
2101 CONTINUE

30

CONTINUE

DO 22,21
MC(1)=0

ENDDO

DO 1=1,95
ISIMI(1)=0
IWAKI(1)=0
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ENDDO
TIME=0.0

DO 60 1=1,182
WRITE(**) |
IF(LINKC(1).EQ.0) GOTO 60
DO 70 J=1,LINKC(l)
ISW=0
DO 80 K=1,182
IF(K.EQ.I) GOTO 80
IF(LINKD(K).NE.LINKO(l)) GOTO 80
IF(LINKO(K).EQ.0) GOTO 80
IF(LINKC(K).EQ.0) GOTO 80

DO 90 L=1,LINKC(K)
IF(LDTM(K,L).NE.LOTM(1,J)) GOTO 90
IF(LSORT(1,J).NE.LSORT(KL).OR.

+ LNO(1,J).NE.LNO(K L)) GOTO 90
ISw=1
9 CONTINUE
80 CONTINUE

if(i.eq.25) then

aaa=0
endif
IF(ISW.EQ.1) GOTO 70
1A=1
KEIRO(IA)=I
IANUM=J
IOTM(KEIRO(IA))=LOTM(1,J)
IIOTM(KEIRO(IA))=LLOTM(1,J)
IDTM(KEIRO(IA))=LDTM(1,J)
IIDTM(KEIRO(IA))=LLDTM(1,J)

C WRITE(6,*) 'LDTM(23,1) 'LDTM(23,1)

ifIOTM(KEIRO(IA)).It.470.0r.IOTM(KEIRO(IA))
+ .gt.600) then
write(6,%) LINKO(1),LINKD(I),KEIRO(IA),1.J
pause
endif
if(IDTM(KEIRO(IA)).LT.470.0R.IDTM(KEIRO(IA))
+ .gt.600) then
write(6,%) LINKO(1),LINKD(I),KEIRO(IA),1.J
pause
endif
ISORT=LSORT(1,J)
INO=LNO(1,J)
DO K=2,30
KEIRO(K)=0
ENDDO
7 CONTINUE
ISW=0
DO 100 K=1,182
IF(K.EQ.KEIRO(IA)) GOTO 100
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132 IF(LINKO(K).NE.LINKD(KEIRO(IA))) GOTO 100

133 IF(LINKD(K).EQ.0) GOTO 100

134 IF(LINKC(K).EQ.0) GOTO 100

135 DO 110 L=1,LINKC(K)

136 IF(IDTM(KEIRO(IA)).NE.LOTM(K,L)) GOTO 110
137 IF(ISORT.NE.LSORT(K,L).OR.INO.NE.LNO(K,L)) GOTO 110
138 3 IK=K

139 IL=L

140 ISw=1

141 110 CONTINUE

142 100 CONTINUE

143 c

144 IFISW.EQ.LAND.IA LT.31) THEN

145 DO 2010 lllI=1,1A

146 IF(LINKO(KEIRO(IIII)).EQ.LINKD(IK).AND.IOTM(KEIRO(lIII))
147 + EQ.LDTM(IK,IL).AND.LLOTM(IK,IL).LE.600) THEN
148 GOTO 2020

149 ELSE

150 IF(LINKO(KEIRO(IIII)).EQ.LINKD(IK).AND.IOTM(KEIRO(lIII))
151 + EQ.LDTM(IK,IL).AND.LLOTM(IK,IL).GT.600) THEN
152 IA=IA-1

153 GOTO 2020

154 ENDIF

155 ENDIF

156 2010 CONTINUE

157 IA=IA+1

158 KEIRO(IA)=IK

159 IOTM(KEIRO(IA))=LOTM(IK,IL)

160 IDTM(KEIRO(IA))=LDTM(IK,IL)

161 IIOTM(KEIRO(IA))=LLOTM(IK,IL)

162 IIDTM(KEIRO(IA))=LLDTM(IK,IL)

163 IANUM=IL

164 GOTO 7

165 ENDIF

166 2020 CONTINUE

167 c

168 MC(IA+1)=MC(IA+1)+1

169 IWAKI(LINKO(KEIRO(L)))=IWAKI(LINKO(KEIRO(1)))+1
170 ISIMI(LINKD(KEIRO(IA)))=ISIMI(LINKD(KEIRO(IA)))+1
171 c

172 OD1(LINKO(KEIRO(1)),LINKD(KEIRO(IA)))=

173 +  ODL(LINKO(KEIRO(L)),LINKD(KEIRO(IA)))+1

174 IFIAEQ.1) THEN

175 OD3(LINKO(KEIRO(1)),LINKD(KEIRO(IA)))=

176 + OD3(LINKO(KEIRO(1)),LINKD(KEIRO(IA)))+1

177 ELSE

178 OD2(LINKO(KEIRO(1)),LINKD(KEIRO(IA)))=

179 + OD2(LINKO(KEIRO()),LINKD(KEIRO(IA)))+1

180 ENDIF

181 DO 1000 11=1,29

182 IF(KEIRO(III).EQ.0) THEN

183 NNNN=III-1

184 GOTO 1010

61



185 ENDIF

186 1000 CONTINUE
187 1010 CONTINUE

188 WRITE(11,610) LNO(1,J),LINKO(KEIRO(L)),(LINKD(KEIRO(I0Y)),
189 + 10=1,NNNN)

190 610 FORMAT( ' 2115)

191 IWRITE=IIOTM(KEIRO(1))

192 WRITE(15,630) INO,ISORT,LINKO(KEIRO(1)),WRITE,1
193 DO 150 K=1,IA

194 IWRITE=IIDTM(KEIRO(K))

195 WRITE(15,630) INO,ISORT,LINKD(KEIRO(K)) IWRITE K+1
196 630 FORMAT(' '516)

197 150 CONTINUE

198 c

199 ITIME=IDTM(KEIRO(IA))-IOTM(KEIRO(1))
200 IF(TIME.LT.-2) THEN

201 WRITE(**) INO,IA,(KEIRO(K) K=L1,IA),(IOTM(KEIRO(K)),K=1,1A)
202 GOTO 70

203 ENDIF

204 IF(TIME.EQ.0) THEN

205 TIME=0.0

206 ELSEIF(ITIME.EQ.-1.0R.ITIME.EQ.-2)THEN
207 ITIME=0

208 TIME=0.0

209 ELSEIF(ITIME.LT.-2)THEN

210 WRITE(**) 'ERROR 1"

211 ELSE

212 TIME=TIME+ITIME

213 ENDIF

214 IF(ITIME.GE.20) THEN

215 ITM(20)=ITM(20)+1

216 GOTO 70

217 ENDIF

218 IF(TIME.LT.0.0R.ITIME.GT.20) THEN

219 AAA=D

220 ENDIF

221 ITM(ITIME)=ITM(ITIME)+1

222 70 CONTINUE

223 60 CONTINUE

224 c

225 WRITE(16,%) TIME

226 WRITE(16,640) (ITM(10),10=0,20)

227 640 FORMAT( '21I5)

228 WRITE(14,620) (MC(1),I=2,21)

229 620 FORMAT( '20I5)

230 DO 160 1=1,95

231 DO 171 J=1,95

232 1J=100+J

233 WRITE(10,602) 1,1J,0D1(,J)

234 602 FORMAT(317)

235 171 CONTINUE

236 WRITE(12,600) (OD2(,J),J=1,95)

237 WRITE(13,600) (OD3(1,J),J=1,95)
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238
239
240
241
242
243

600

160
C

FORMAT(' ' 95I5)
WRITE(14,*) LIWAKI(1),ISIMI(I)
CONTINUE

STOP
END
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